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M.A. (Previous) Examination, 2017

ECONOMICS
Paper-V (B)
(Mathematical Economics)

Time : Three Hours
Maximum Marks : 100

PART - A (@Us-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
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PART - B (@vz-9) [Marks : 50
Answer five questions (250 words each).

Selecting one from each unit. All questions carry equal marks.
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PART - C (@uez-w) [Marks : 30
Answer any fiwo questions (300 words each).
All questions carry equal marks.
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PART - A
(@vg-37)
UNIT - 1
(TFTE-1)
1. (i)  Write the equation of budget line.
EEEtCHcR:riCTU Riciteld
(ii) Whatis utility index ?
ST g T R
UNIT - 11
(3FT-11)
(iii ) Is the following function homogeneous 2 If yes which
degree? = 2x® —dugiiey?
71 = werm weEn 7 9fe 71 @ feed farft @0

y=2x" ~ 4=yt
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(iv)  When does the Cobb-Douglas production function show
constant refurns to scale ?
HTE-SETH FRA el THR i ufiee ws wehia
w7
UNIT - 111
(FTE-111)
(v ) Write the condition of a firm's equilibrium in longrun
under perfect competition.
7ol wfireer 3 srle T@ W o A T o
fafea
(vi) Whatijs Bilateral monopoly ?
fgwafi TeRTTi=RR 11 &7
UNIT - TV
(3TE-IV)
(vii) What is Accelerator ?

TE FE?
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(viii ) Write the condition for full employment growth
according to Harrod's model of economic growth.
#ire % i ofs Tiew % srER T AR 5
v fetfge )
UNIT - V
(FFT5-V)
(ix) Write any two assumptions of linear programming
technique.
TETE T wHen % @ & arear faian
(x)  What do you mean by closed input-output model 7
o8 e~ Fid Atee | o9 = gHe §2
PART - B
(Eus-x )
UNIT - 1

(3HT3-1)

2. Mathematically explain the revealed preference --orem. 10

e (YRfed) sifmm fagra =1 nftw saren iy
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OR ( 279dT)
3. Explain how the utility index is constructed under N-M

theorem with example. 10

N-M fagr= & swrfa st == 5% ffte fea s
7 IV Wieq T8 FE |
UNIT - I

(TehTg-I1)
4. Explain the law of variable proportion mathematicaily. 14
wiEdAeie equl & faw =i oo sEmen EifeT
OR ( 3tgar)
5. Iftotal cost function is C = f(Q) = Q* -30° +~130
()  Find out the average and marginal cost functions.
(i) Prove that at minimum point of average cost, marginal

cost Is equal to it. 3+7
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A F T FEE C = £(0)= 0 —30% £ 150
() olwa m qu S TR TR i S |
(i) ¥ fog FifT & wa arm F =wm fag = dmr
A S8 UM B 2 |
UNIT - III

(Z=TE-1I0 )

6. In an undifferentiated duopoly the market demand and cost
functions are P = 100 - 0.5q, C, = 5¢, and C, = 0.5 q,°. Find
out the Cournot equilibrium solution, 10
U SIS EAfUER AR F e A3 P = 100 - 0.5, C,
= 5q, 9 C, = 0.5 q,* T Weld § a0 ) WreE THEHE T
ifaa |

OR ( 372 )

7. State and explain Marshall and Walras stability conditions of
equilibrium, 10
RIS T8 STes St e o e = el 5 R QU IS
fag=m wifew)
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UNIT -1V

(3FTE-1V)

8. Explain the meade growth model with technical progress. 10

g % FwAE gy & WY gfE Sed %1 S S
OR ( 279ET)

9. Explain the multiplier accelerator. Interaction model of
Samuelson. 10
m%w—mwuﬁﬁmﬂmﬁmm|

UNIT-V

(3FE-V)

10. (i)  Solve the following games : 8
=1 @e =1 gy w:ifag .
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Pay off matrix of A
strategies of B Player
A =1 U-3TF 37507

Strategies of B, B, B; B, B, B,

bt
b
(%)
L]
[
I

A Plaver A

[¥5]
2
L
(V%)
|9%]

(i What do you mean by mixed strategy games ? Z
U TG BA W ST F o §Y
OR ( 379a7)
11. (v Inan economy of two industiies A and B, the data is
@iven below in million of rupees.

TIENEG A ORIl TR s | oty Miees

s U AE Ta .
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Sold by Purchased By | Final Demand | Total output

(fera &g | (wmaFam) (dfm ) | (Fa saa=)

A B
A 12 6 6 24
B 6 3 9 18
Find out the technological coefficient matrix. 6
THTh! TOT SE T Fw |
(i)  Explain the Hawkins-simon condition. 4
B~y W 7d FaRT |
PART - C
(@)
UNIT - I
(3T3-1)

12. Find the optimum commodity purchase for a consumer whose
utility function and budget constraints are -
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u= ‘i'lzq; and g, +4q,=10 respectively 15

@wmﬁwaﬁmﬁmaﬁﬁqﬁwwﬁﬁm

HER qu TE Wiaey R
u=gqiq; M g, +4q, =10
UNIT - I
(zET-11)
3. What do you mean by CES production function. Explain its

properties. 15
CEswwﬂmwmﬁ?mmﬁﬁ
e HIg )
UNIT - 11
(FE-1)
14. If a monopolist practise price discrimination in two markets,
find out his equilibrium condition and prove that he will charge

lower price in the market where price elasticity s greater.

15

4325-B/1520 10



ﬂﬁmmfuﬁﬁaamﬁﬁaﬁﬂﬁﬁﬁmm%,ﬁrwﬁ
Az v w@ Hif aw T fog w7 9w 39 9o H w1
mm,mwﬁmﬁaﬂmmﬁw%
UNIT - IV
(F=TE-IV)
15. Explain the growth model of solow. How this model is

improvement on Harrod growth model ? 1243

@ﬁ%q@mwwmnmm%q@ﬁmm

TR foma R 22
UNIT-V
(F-V)
16. Solve the following LPP by simplex method : 15
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Max _P=4x]+6x2
subject to X, +3x, <240
3x, +4x,<370
2x, +x, <180
XX, 20
=1 LPP &1 wwrem Ryt farfr wmr wtfir
T FRT P =4x, + 6x,
Hfqay X, +3x, 240
3x; +4x,<370
2x, +x,<180

X,X,20

4325-B/1520 12



